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Total marks — 35

You may NOT use a calculator.
Attempt ALL questions.
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If you do not, you may lose all the marks for this paper. /
L A |

* SQA26 N50101=*



[ 1

FORMULAE LIST

Circumference of a circle: C=mnd

Area of a circle: A=mrt

¢ b a+b*=c’
Theorem of Pythagoras:

a
Volume of a cylinder: V =nrh
Volume of a prism: V=Ah
_=\2 2 2
Standard deviation: s = \/Z(x T) = \/Z)C (Zf) /n, where n is the sample size.
n— n—

Gradient: .
vertical

height
. vertical height
gradient = - -
horizontal distance horizontal distance
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Attempt ALL questions THIS

MARGIN

1. Dave and Elaine each have the same monthly data allowance on their mobile
phone contract.

Dave has used % of his monthly data allowance.

Elaine has used 3 of her monthly data allowance.

Who has used the most data?

Give a reason for your answer. 2

2. Alzena drove from Glasgow to Manchester Airport, 252 miles away.
Alzena left Glasgow at 11.25 pm.

She arrived at Manchester Airport at 3.25 am.

(a) How long did Alzena’s journey take ? 1

(b) Calculate her average speed in miles per hour for the journey. 2

Total marks 3

. LRI RL D A .
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A charity had a stall at a fair selling crafts and cakes to raise money. e
The stall had sales worth £70.
The charity must pay 15% of the money from the sales to the organisers.
The materials for the crafts and cakes cost £24.
What is the net amount of money raised? 2

LR UEDIHL D .
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4. Three friends decide to tidy up their garden. THIS

MARGIN

The tasks which need to be done are shown in the table below:

Tasks Detail Pretc;iﬂing (m-:-:\r:fes)
A Clear rubbish from the garden None 10
B Get lawnmower and edge shears out None 5

of the shed
C Get hedge trimmer out of the shed None 5
D Cut grass in the garden A B 30
E Trim edges of the lawn with shears B, D 10
F Cut the hedge C 20
G Put grass clippings in bag D, E 5
H Put hedge clippings in bag F 5
I Take bags to recycling centre G, H 45

(@) Complete the chart below by writing the letter of the tasks and time (in
minutes) in the boxes. 2

A

10 mins

5 mins

C

5 mins

(b) Calculate how much time in total the three friends should allow for the
garden to be completed? 1

Total marks 3
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5. Callum, a fitness instructor, is working with ten adults. e

He records their resting pulse rates in beats per minute (bpm).

He then takes them on a “Step” exercise session and records their pulse rates
immediately after this exercise.

Callum allows the adults to return to their resting pulse rates.

He then takes them on a “Rowing” exercise session and records their pulse
rates immediately after this exercise.

The results are displayed in the table below:

Adult A B c D E F G H | J

Resting
pulse rate
(bpm)

60 | 70 | 64 | 78 | 58 | 93 | 62 | 72 | 82 | 90

After Step
pulse rate
(bpm)

105 | 1151109 | 120 | 102 | 120 | 112 | 118 | 124 | 130

After
Rowing
pulse rate
(bpm)

102 | 117 | 100 | 110 | 100 | 120 | 105 | 107 | 112 | 120

LTI A .
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5. (continued)

MARKS

Callum has drawn the following scattergraph of the pulse rate results for the

step exercise, and marked in a line of best fit.

Pulse rate results for step

140
130 4
After *
step 120 4
pulse *
rates Y A
(bpm) 110
L 3
100 ¢
0
0 50 60 70 80 90 100
Resting pulse rates (bpm)
(a) Mark in the pulse rate results for rowing on the grid below. 2
Pulse rate results for rowing
140
130
After
rowing 120
pulse
rates
(bpm) 110
100
0
0 50 60 70 80 90 100
Resting pulse rates (bpm)
(b) Draw a line of best fit on the diagram above. 1
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5. (continued) WARGIN

(c) A new member of the group had a resting pulse rate of 87. After exercise
his pulse rate was 112.

Which exercise do you think he is likely to have done?

Give a reason for your answer. 2

Total marks 5
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6. The table below shows the average monthly exchange rates for British pounds THIS

(GBP) to euros (EUR) between January and July 2012, e

Foreign Exchange Conversion Data
1 GBP to Euros

Jan'Feb'Mar’ Apr'May' Jun' Jul "Aug’Sep'Oct 'Nov'Dec’

Average Monthly Rates
January 1-2018 EUR
February 1-1949 EUR

March 1-1984 EUR
April 1-2166 EUR
May 1-2435 EUR
June 1-2410 EUR
July 1-2637 EUR

Using the information above, how many more euros would | have received if |
changed £500 when the exchange rate was at its highest in comparison to its
lowest? 4

Show all your working.

. LRI RL D AR .
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. In a square plain glass panel, a designer wants to place a coloured triangular e

piece of glass as shown in the diagram below.

Coloured glass

8 cm

The triangular piece of coloured glass is formed from a corner of the square
to the mid points of the opposite edges as shown in the diagram.

Calculate the ratio of the area of coloured glass to the area of plain glass. 4
Show all your working.

LR NERIORL 0D .
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8. Jill earns £24 300 per annum. e
She has a personal tax allowance of £8130.
She pays tax at the basic rate of 20%.
(a) Calculate how much tax she must pay each year. 2

(b) Jill also pays £166-08 per month in National Insurance and £100 per
month into her pension.

(i) Calculate Jill’s total monthly deductions. 2

(ii) Calculate Jill’s monthly take home pay. 1

Total marks 5

. AEREATAMAMERIEL 0D A .

*SQ26N50111%
Page eleven




[ 1

MARKS | J2re
9. The ‘Accessibility Guidelines for Buildings and Facilities for Wheelchair e
Access’ give two recommendations.
Recommendations
1. The maximum gradient of a ramp shall be 1 in 12.
2.  The maximum rise shall be 760 mm for any length of run.
Max. rise Max. gradient = 1in 12
760 mm
/.
run
The drawing below shows the design of a new ramp.
0-5m ‘
7/
8m
(a) Does the new ramp meet Recommendation 1 ?
Give a reason. 2
(b) Does the new ramp meet Recommendation 2 ?
Give a reason. 1
Total marks 3
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. Juma recorded his golf scores over the year. He played 12 times THIS
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MARGIN

in windy conditions and 12 times in calm conditions.

The data for the windy conditions are illustrated in the box plot
below.

Windy conditions

o R

- rrrtrrrtrr T
73 74 75 76 77 78 79 80 81 82 83 84 85 86 87 88

His scores for the calm conditions are shown in the table below.

Calm conditions

70 68 73 70

67 78 74 73

74 76 78 76

() Construct a box plot to illustrate the data for Juma’s golf scores in calm
conditions. 3

LR UERIEL 0D .
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10. (continued) JARGIN

(b) State a valid comparison between the scores for the windy and calm
conditions. 1

Total marks 4

[END OF SPECIMEN QUESTION PAPER]
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ADDITIONAL SPACE FOR ANSWERS e

MARGIN
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Marking Instructions

These Marking Instructions have been provided to show how SQA would mark this
Specimen Question Paper.

The information in this publication may be reproduced to support SQA qualifications only
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assessment. If it needs to be reproduced for any other purpose it is the user’s
responsibility to obtain the necessary copyright clearance.

Xson



Part One: General Marking Principles for National 5 Lifeskills Mathematics

This information is provided to help you understand the general principles you must apply
when marking candidate responses to questions in this Paper. These principles must be
read in conjunction with the specific Marking Instructions for each question. The marking
schemes are written to assist in determining the ‘minimal acceptable answer’ rather than
listing every possible correct and incorrect answer.

C)

(b)

(c)
(d)

(e)

(f)

()

(h)

Marks for each candidate response must always be assigned in line with these
General Marking Principles and the specific Marking Instructions for the relevant
question.

Marking should always be positive, ie marks should be awarded for what is correct
and not deducted for errors or omissions.

Credit must be assigned in accordance with the specific assessment guidelines.

Candidates may use any mathematically correct method to answer questions except
in cases where a particular method is specified or excluded.

Working subsequent to an error must be followed through, with possible credit for
the subsequent working, provided that the level of difficulty involved is
approximately similar. Where, subsequent to an error, the working is easier,
candidates lose the opportunity to gain credit.

Where transcription errors occur, candidates would normally lose the opportunity to
gain a processing mark.

Scored out or erased working which has not been replaced should be marked where
still legible. However, if the scored out or erased working has been replaced, only
the work which has not been scored out should be judged.

Unless specifically mentioned in the specific assessment guidelines, do not penalise:
« Working subsequent to a correct answer
« Correct working in the wrong part of a question
« Legitimate variations in solutions
e Bad form
o Repeated error within a question
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Part Two: Specific Marking Instructions for each question

Question Marking scheme Max Illustrations of evidence
Give one mark for each e mark | for awarding a mark at each e
1 2
Ans: Elaine has 33 > 32
56 56
' Process: find common o' 56 (or equivalent)
denominator
¢ 2 Communication: state conclusion e 2 Elaine has 3_5 > 2
with reason 56 56
2| a Ans: 4 hours 1
' Process: calculate time across e' 4hours
midnight
2| b Ans: 63 (mph) 2
1 : . 1 252
e ' Strategy: substitute into correct * s= e
formula
% Process: calculate speed e? 63 (mph)
3 Ans: £35-50 2
o' Strategy: know to find 15% ¢'70 + 100 x 15 accept any
alternative method
% Process: calculate net amount of ¢270 - 10-50 - 24 = £35-50
money raised
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Ans: task letters and times
inserted in chart

e ' Strategy: start to allocate tasks
e 2 Strategy: complete allocation of

tasks and times

.1

task letters in correct boxes

¢ 2 times in correct boxes

A —

10 mins D E G
—— 30 mins — 10mins |— 5 mins

[ [

B .
5 mins |

45 mins

5 ¢ F H

mins 20 mins 5 mins

Ans: 100 mins or 1 hr 40 mins

e ' Process: calculate total time

.1

for longest time in each section:
10+ 30 + 10 + 5 + 45 = 100 mins
or 1 hr 40 min

Ans: All points plotted correctly
o' Strategy: start to plot points

e ? Process: plot all 10 points

3 points plotted correctly

All 10 points plotted correctly

Ans: Best fitting line drawn

o ' Strategy: know to draw line of
best fit

Accept line with positive
gradient which has minimum 3
points above and 3 points below
the drawn line

Ans: Rowing with reason

o' Strategy: know to use line of
best fit

¢ 2 Communication: state answer
with justification

Plotting of point on second line
of best fit or equivalent

Rowing because for example,
step line is above 120 at 87 bpm
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Ans: 34 euros or 34 (-40) euros

o' Strategy: identify highest and
lowest values

e % Strategy: know to find number of
euros

e * Strategy: know to find
difference

¢ * Process: carry out calculations
correctly

o' 1.2637 and 1-1949

o2 1.2637 x 500 and
1-1949 x 500
o3 631-85 - 597-45

" 34 euros or 34 (-40) euros

Ans: 3 : 5 or equivalent

o' Strategy: know to work out the
area of coloured glass

e ? Process: calculate: area of
square
calculate area of triangle 1
calculate area of triangle 2
calculate area of triangle 3

o 3 Process: subtract areas of three
right angle triangles from area of

square

¢ * Communication: calculate ratio

e know that area of coloured glass
is area of whole square minus
areas of 3 right angled triangles

e’ 8 x8=64(cm?)
Y2 x4 x8 =16 (cm?)

2 x4 x4 =8 (cm?)
Y2 x4 x8=16 (cm?)

o® 64 - 40 = 24 (cm?)

e*3:5o0r equivalent

Ans: £3234 per year
¢ ' Process: find taxable pay

e 2 Process: find tax paid

o' £16 170

e? £3234 per year

Ans: £535-58
' Process: find monthly tax paid

e 2 Process: find total monthly
deductions

o' £269-50

e? 269-50 + 166-08 + 100 = £535-58
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Ans: £1489-42

e ' Process: find monthly take home
pay

£1489-42

9 Ans: Yes, the ramp will conform to
recommendation 1 because its
gradient of 1 in 16 is less steep
than 1in 12,
e " Process: Calculate gradient 0-5/8x2/2=1/16
2 Communication: Interpret Yes, 1in 16 is less steep than 1
gradient of ramp in 12
9 Ans: Yes, rise is less than 760 mm
¢ ' Communication: state conclusion Yes, 500 mm < 760 mm or
equivalent
10 Ans: appropriate box plot drawn

o' Strategy: know information
required to construct box plot

% Process: State 5 figure summary

for calm conditions

e > Communication: box plot drawn
correctly

begins to list five figure
summary

Calm conditions L-67, Q1-70,
Q2-73.5, Q3-76, H-78

Box plot drawn to an
approximate scale or to scale on
square-ruled paper
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10

¢ ' Communication: valid
comparison

¢' Any valid comparison for
example:

Scores tend to be higher in
windy conditions

There is less spread of
data in calm conditions
Scores tend to be lower in
calm conditions

There is a greater spread
of scores in windy
conditions

Scores tend to be more
consistent in calm
conditions

TOTAL MARKS FOR PAPER 1-35

[END OF SPECIMEN MARKING INSTRUCTIONS]

Page 7




	N5 Lifeskills Mathematics Paper 1
	N5 Lifeskills Mathematics Paper 1 MIs Front Cover
	N5 Lifeskills Mathematics Paper 1 MIs


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage false
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /3Of9Barcode
    /Goudy
    /Goudy-Bold
    /Goudy-BoldItalic
    /Goudy-Italic
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (U.S. Web Coated \(SWOP\) v2)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


